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2023
COMMERCE
( Honours Elective )
Paper : COM-HE-6016
( Fundamentals of Investment)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10
ROHRIT woe MarTres Tes w4
(@) Write the full form of CARE.
CARE 3 7 holtot faalt |
Contd.



) et e lemingis an cxampe o o o s g
ative
: Hoaq AT TEGTD TS AMORETR FF ?
OoS 72 — 3
%W@qw R RE Raireiew () 1st January, 2016
: : (i) 1st April, 2017
() Share (Sigs) (iii) 1st January, 2018
(@)l Debonta ‘ fiv) 1st April, 2019
ve (Mzta) . ‘ (Choose the correct alternative)
(i) Forward contract (Sia=a; 5i&) : (em [we0! > Sfred)
(iv) GDR (@) () Who is the regulatory authority of
(Choose the correct . Indian securities market ?
alternat .
(@ra—,ﬁmw@@;‘g SRS T THRY TR TG (I 2
(c) Whg i§ tl.le propounder of dividend . () NAV is a fund per share market value.
capitalisation model ? NAV ¥ &9 310 ofe @b ‘(fﬁﬁ |
FOIRE AL IPN ©GT CERT 2 " (The statement is g‘rue/ Falseﬁ
; (Sfetol 8%/ 98T,
(i) Myron J. P :
: yron J. Gordon (2 (%7, 5iGH) (g) “Securities market is a market for
(i) David Ricardo ((Tfew fReviced) equity, debts and derivatives.”
() Adam Smith (Swmiy Fém) . ;r‘d’l:_?‘\s\z © JGI T TKIAG, A4 iR YL
; 2o IS |7
(iv) Joh;’g Sotuart Mill (&9 Fais f3eT) . (The statement is True/False)
ose the correct alternative) ) (o o5/ 99%)
b ( S& ReEoY 15 Bfarear) (h) Bond is a risk-free security.
n i =
compl‘:rlzg‘:h date SEBI  introduced oL aRipan Sas e
B Iy trading of shares of liste B (The statement is True/False)
panies in ‘DEMAT’ form 7 (Cfecor &/ w1s%)
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(i) SB_I mutual fund is the first public
.Sector mutual fund in India.

BRI Vs Ay v wieq dod
TR eI T e |
(The statement is True/ False)

(Cfecsr &g/ S5%)

() Investment in equity is safer than
bank fixed deposit.

TR [ @ i saree @R
e

(The statement is True/False)

- (Cfen va/9qua)

Answer question

S0 words each - 2x5=10

:Taommm@ﬁmwfm@w

(¢) Explain any
derivativeg.

RICET 72 23 o8 g oy o3

two types of financial
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S of the following in about

(d) Write two functions of SEBI.
R 76 FrgRE i |

(e) Explain any two assumptions of
technical analysis. :

FifRpq] [esmem 7oy «iFell iRy 1 |

Answer any four questions of the following
in about 150 words each : 5x4=20

ooid [t bif<bl o9 At AT S@o Bl Wi
g fooge Tag forall ¢

(a) Explain the structure of Indian
securities market.

SRoR 2foefs Ao MW Ao T
(b) Write a note on pricé earning ratio.
P.E. Soiies €2F© afo (ORFl fo72ll |

(c) Describe the factors affecting the
choice of mutual fund.

GRS F |

(d) What do you mean by fundamental
analysis ? What are its objectives ?

@ e I & 3ot e 33 SraEls
R 4 |
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(e) Wri‘;e any five functions of stock

exchange.
| ‘

(f) State any five features of bond.

4T Rieie “Hiesrsr @ S <= |

~ 4. Answer any four questions of fhe following
in about 600 words each : 10x4=40

o ReICl BIfSDY @A TS AW voo B W
*i7q foose Tet =i ¢

(@) Explain briefly about different types of
investment stating their advantages
and disadvantages.

ARl S SREETEE e o [y serg
fiRcais T=1F vt i 7=

(b} Do you think that credit rating is an
important service for the investor ?
Justify your answer.

RGeS sem 9@ @ s @i b

AT et 3ot ot Kool =12 cora
TSR TS I’ W | i

4 (Semvﬁ_»’CBCS) HE 1(FOl)/G 6

(¢

(d)

(e)

What do you mean by mutual fund ?

Discuss the different types of mutual
fund. 2+8=10

SomeE % e T 3@z [ieq e
TR AferrrEs SitEn |

Discuss the role played by SEBI in the
protection of interest of the investors
in Indian securities market.

oRey dfvsfed Imme RGN Fwem
ief Fjfre R SEBI (@ aiFl <41 il
S |

What are the basic features of
financial derivatives ? Also state briefly
about the major participants in
financial derivative market. = 5+5=10

R8y aiRrelbes T WHHER & e Rew
faizreie @@ T SHATPN RS
R 5 TR0 1| _

What is efficient market hypothesis ?

Discuss about the different forms' of
efficient market hypothesis.

FA TR Qe 52 IR @R Gi9elT
fon aoRTRY R SIETm <1 |
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(g9 What do you mean by bond ? Mr. X
purchased a 10% coupon rate bond.
The bond have a face value of
Rs.10,000 and maturity of 4 years. If
the current market interest rate is 8%,
find the value of the bond wusing
present value method.

If the current market price of the bond
is Rs.9,000; state whether X should

sell it or hold it till its maturity, along
with the reason.

(Present value of Re.1 at 8% discount
rate is as follows :

1 year — 0.926, 2 years — 0.857,

3 years - 0.794, 4 years — 0.735) ;
fBR X @ 10% 47 299 90 oy @] <3
393 RS 37 10,000 5t W= % 4 7|
ﬂﬁwsﬁswm%,www%
IR I 89 [ Feffet =41

3 993 5T T@R T 9,000 T =, X @
¢ R 0 The =m wim e

R The 29|
(8% T F© 1 TR TG &7 ot T
e 8

15 I — 0.926, 23 I/ — 0.857,
3 I — 0.794, 49 3" — 0.735)
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